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234 -�56 5�  20$1 � (234 -�56 5�  20$1 � (234 -�56 5�  20$1 � (234 -�56 5�  20$1 � (����) -9: ;10<=/) -9: ;10<=/) -9: ;10<=/) -9: ;10<=/Mark (Mark (Mark (Mark (����) against the correct option) against the correct option) against the correct option) against the correct option    5×1=055×1=055×1=055×1=05    

ू. 1 -1D1-E-FG $H 2 � -�I0-$1 50 ॐKG 3L -/ 
 Which of the following is a source of vitamins- 

 (R) 90�E Rice (;) 2K.0;41 Soyabean 

 (2)  I$0IV Tomato (�) X �YZ Wheat 

ू. 2 -1D1 $� 2 � -522 � [1 ू0\ 134 3KG0 3L? 
 Wool is not obtained from which of the following? 

 (R) .05 Yak (;) [^I Camel 

 (2)  ;5V4 Goat (�) 5ab0 Dog 

ू. 3 -1D1 $� 2 � dE4. �0�� 3L? 
 Which of the following is an aquatic plant? 

 (R) F �df4 Khejdi (;) dE5a D  4 Hyacinth 

 (2) ; �V Berry (�) 14$ Neem 

ू.4  -�m0 5�  m �ऽ $H ब0-ंG -52 � L/0-15 p�5V" 5�  50V" qr ? 
 Which scientific instrument led to the revolution in the field of education? 

 (R) I�E4-�d1 Television (;) V�-ड.t Radios 

 (2) 5u!IV Computer (�) I�E4vK1 Telephone 

ू. 5 S.I ू"0E4 $H xV4 50 $0ऽ5 3L ? 
 What is the unit of distance in the S.I system? 

 (R) -5EKम0$ Kilogram (;) $4IV Meter 

 (2) z .!I1 Newton (�) म0$ Gram  
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;q-�564.;q-�564.;q-�564.;q-�564.    ूूूूँँँँ1111    ////Multiple Choice QuestionsMultiple Choice QuestionsMultiple Choice QuestionsMultiple Choice Questions        5555××××2=102=102=102=10    

ू. 6 ू50� 50 5} -ऽ$ ~KG 3� ? 
 What is an artificial source of light? 

 (R) 2!. � Sun (;) 9z ि$0 Moon  

 (2) I�9 � Torch (�) G0V� Star 

ू.7  9 a�5 5�  ी a� 3KG � 3� ? 
 How many Poles in a magnet? 

 (R) =5 One (;) �K Two  

 (2) G41 Three (�) 90V Four  

ू.8  5�1 X-G 50 p�03V" 3L ? 
 What is an example of vibrational motion? 

 (R) � !E� 54 X-G Motion of a Swing   

 (;) �-3= 54 X-G Motion of a wheels 

 (2) ;2 54 X-G Motion of a Bus    

 (�) -2 G0V 5�  G0V 54 X-G Motion of a Violin Wire  

ू.9  -1D1 $H 2 � $1KVंd1 50 20�1 134 3L? 
 Which of the following is not a means of entertainment? 

 (R) �4-ड.K X �$ Videogame  (;) vL� Fax 

 (2) 5u!IV Computer  (�) I4.�4. T.V. 

ू.10  -1D1 $� 2 � �05030V4 dz G a 3L ? 
 Which of the following is a herbivorous vegetarian animal? 

 (R) 94G0 Tiger  (;) -3V" Deer 

 (2) ��V Lion (�) EK$f4 Fox 

-V�-V�-V�-V�    �01K�01K�01K�01K    54545454    �!-G �� !-G �� !-G �� !-G �    54-d=54-d=54-d=54-d=    ////Fill in the blanksFill in the blanksFill in the blanksFill in the blanks            10101010××××2=202=202=202=20    

ू.11  -�I0-$1 C 5�  R 0� 2 � ………………… 10$5 VKX 3K d0G0 3L। 

 Deficiency of Vitamin C causes a disease called ………….  

( ��� Scurvy / ; �V4-; �V4 Beri-Beri ) 
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ू.12 R10d 5�  �01t 5K ड-ंf.t 2 � �}#5 5V1 � 54 -�-� 5K ………53G� 3�।  

The method of separating the grains of grain from the sticks is called ………. 

    (3� 9.1 Handpicking / ा �-2Xं Threshing) 

ू.13 �-b.0Z ………… 5�  �0V0 ँ�21 5VG4 3�।  

 Leaves respiration through ………….  (V� Stomata / G1 � Stems) 

ू.14 R-�.t 54 2-ं�.0Z �V4V 5K …………. $H 230.G0 5VG4 3�।  

 The joints of the bones give the body …………. assist in. 

   (� a$01 � $H To Rotate / -�V VF1 � $H In Keeping Steady) 

ू.15 <IंV1 �I �0V0 2�ं ��  �d1 � 54 �� a-15 G5145 5K …………. 53G� 3L । 

The modern technology of sending messages through the Internet is called 

…………..     (r-$�E E-mail / vL� Fax) 

ू.16 24�4 2f5 �V 9EG � q= �031 54 X-G ………………. 3�। 

 The Motion of a vehicle moving on a straight road is called ……..  

(2VE V�F4. Straight Line / �}b050V Circular) 

ू.17 R�10 ू-G-;;ं ��F1 � 5�  -E= …………..�� �" 50 p�.KX 5VG� 3�। 

 ………..mirror is used to see his our reflection.  

(2$GE Plane / R�bE Concave) 

ू.18 $01� �0V0 ;10.0 X.0 …………….9 a�5 53E0G0 3�। 

The magnet is made by the man is called ……….   

(5} -ऽ$ Artifical / ू05} -G5 Natural) 

ू.19 �20 �V4V 5K ……………. ू�01 5VG0 3�।  

 Fat provides a body…………..  

([d0 � Energy / VKXt 2 � Vm0 Protection against Diseases) 

ू.20 �031t 5�  �-3= 54 X-G ……………………...3KG4 3�।  

 The wheel motion of vehicles is ………………………. 

(2VE V�F4. Straight Line / �}b050V Circular) 
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234234234234    dKf4dKf4dKf4dKf4    -$E01-$E01-$E01-$E01    54-d=54-d=54-d=54-d=////Match the Correct pairMatch the Correct pairMatch the Correct pairMatch the Correct pair     5555××××2=12=12=12=10000    

ू.21 I�E4vK1 Telephone (5) -�� aG m �ऽ Electric Field 

ू.22 ा �2V Thresher (F) -9-5�0 m �ऽ Medical Field  

ू.23 �V$0" a -;dE4 �V (X) -�m0 m �ऽ  

 Nuclear Power Station Education Field 

ू.24 5u!IV Computer  (�) 2�0V m �ऽ Communication Field 

ू.25 =�-V�  X-ray (�) 5} -� m �ऽ Agriculture Field 

2 2 2 2     .0.0.0.0    R2 R2 R2 R2     ;G0<=;G0<=;G0<=;G0<=    Tell true or falseTell true or falseTell true or falseTell true or false            5555××××1=51=51=51=5    

ू.26 -�I0-$1 B 54 5$4 2 � ; �V4-; �V4 VKX 3KG0 3L। 

 Deficiency of vitamin B causes beri-beri disease. 

ू.27 5� �E VKI4 F01 � 2 � 3$ R�1 � �V4V 54 �K�" ��ँ.5G0¡ ं5K �!V0 5V 25G� 3�। 

By eating only bread, we can fulfill the nutritional requirements of our 

body. 

ू.28 2 4 dz G a¡ ं54 X-G =� ं9E1 -;£aE =5 2$01 3KG0 3�। 

 The Motion and movement of all animals are exactly the same. 

ू.29 V��$ ू05} -G5 V��0 3�। 

 Silk is a natural fiber. 

ू.30 � !E� 54 X-G 2VE V�F4. X-G 3L। 

 The motion of the swing is a straight line motion. 

R-GR-GR-GR-G    E�!E�!E�!E�!bV4.bV4.bV4.bV4.    ूूूूँँँँ1111////    Very Short Answer QuestionVery Short Answer QuestionVery Short Answer QuestionVery Short Answer Question                5555××××2=102=102=102=10    

ू.31 �¤� � R�10  Kd1 -52 V020.-15 -ब.0 5�  �0V0 ;10G � 3L? 

 By which chemical reaction do plants make their food? 

ू.32 d; V�EX0f4 24�4 V�F0 $H 9EG4 3� GK V�EX0f4 -52 ू50V 54 X-G 5VG4 3L? 

What type of motion does the train make when the train is moving in a 

straight line? 
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ू.33 9 a�5 5K X$ � 5V1 � �V ¥0 ू 0� �f�X0 ? 

 What will be the effect on heating the magnet? 

ू.34 $¦E4 54 X-G -52 ू50V 54 X-G 3L? 

 What is the motion of the fish? 

ू.35 �50V 5�  ��0V �V �¤� � -5G1 � ू50V 5�  3KG � 3� ? 

 How many types of plants are there on the basis of size? 

E�!bV4.E�!bV4.E�!bV4.E�!bV4.    ूूूूँँँँ1111    / Short Answer Question/ Short Answer Question/ Short Answer Question/ Short Answer Question            5555××××4444====20202020    

ू.36 3$0V�  Kd1 5�  $ ä  �K�5 G©t 5�  10$ -E-F= ? 
 Write the names of the main nutrients of our food? 

ू.37 5�02 2 � ;11 � �0E4 �K �� a¡ ं5�  10$ -E-F= ? 
 Write the names of the two items made from cotton? 

ू.38 90E1 2 � ¥0 R- ू0. 3L ? <2 -�-� 50 530Z p�.KX 3KG0 3L? 
 What is meant by sieving? Where is this method used? 

ू.39 � L-15 d4�1 $H p�.KX 3K1 � �0E� 4 -�� aG p�5V"t 5�  10$ -E-F= ? 
 Write the names of 4 electrical appliances used in a daily life? 

ू.40 �0. a, dE G#0 #E �V p�.KX -5= d01 � �0E� �-V�31 5�  20�1K $H ू  �5 5�  2-2 p�03V" -E-F= ।  
 Write 2 examples each of the means of transport used by air, water and land. 

�4� ��4� ��4� ��4� �    pbV4.pbV4.pbV4.pbV4.    ूूूूँँँँ1111////Long Answer QuestionsLong Answer QuestionsLong Answer QuestionsLong Answer Questions            10101010××××2=202=202=202=20    

ू.41 (5) 9 a�5 -52 � 53G � 3L ? 9 a�5 5�  �K p�.KX -E-F= । 
  What is the magnet? Write two uses of magnets. 

 (F) 149 � �4 Xr ��a¡ ंR#�0 ��0#ª 5K R�0V���,�0V��� R#�0 �0V 024 R#�0 �4\ R#�0 
R�4\ $H �X�5} G 5V� ? 

  Classify the following objects or substances into opaque, transparent 
or translucent or bright or non-luminous? 

  dE, �0. a, 9«01 50 Ia5f0, ¬­ . a-$-1.$ �4I, �� �", E5f4 50 G®G0, ��E4#41, � aZ�, I�9 �, 
2!. �, d!X1!, 9¯$0 । 

  Water, Air, Piece of Rock, Aluminum Sheet, Mirror, Wooden Plank, 
Polythene, Smoke, Tourch, Sun, Firefly, Moon. 
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ू.42 (5) -1D1 5K ू05} -G5 GGं a R#�0 5} -ऽ$ GGं a $H �X�5} G 54-d= ? 
  Classify the following as Natural fiber or Artificial fiber? 

  10<Ê01, [1, °r, V��$, ��-E±V, �I21 
  Nylon, Wool, Cotton, Silk, Polyester, Jute 

 (F) $¦E4 50 10$-ं5G -9ऽ ;105V p254 �5} -G 5K 2$�0<=? 
  Draw a labeled diagram of a fish and explain its shape. 


